3B k& &ET(4/26% %)

<FEEBE> < ERifi >
K4 MREEE B K% REEE B
BE) R 600 fHiE BB 7,650 200
ERE SN 200 T RE= 37,705
Fik BX 9,720 Bk F1k 3,967 27,580
WE EF 2,361 =5 EL 24,605
EE A& 4,322 NEE & 37,280
FEiE fh— 4,322 1£8 1 37,705
AH EE 7,312 =R B2 24,605
nH =Y 4,322 B @ 34,625
% ¥F 4,322 ik NE 69,055
ZH EX 8,970 =H EER 53,625
T 518 rE B 31,625
WA B2 5,272 INEE St 6,165
=2 BE 4,322 ME EF 51,420
SR EE 5,721 hE FX 80,270
EATIRES 1,147 BRI 6,855
A&l AT 4,322 Fik 508 29,545
BE XF 4,322 Pk EX 24,480
EF &R 8,415 El e 31,625
=T # 37,385 EE gz 28,245
EH BHE 200 BEIETRS 77,365
2,107 = s 44,725
Pk AE 4,322 BA DR 2,880
HE BEA 29,892 HH KSR 4,570
Bk 5SS 7,682 =R 102,500
EE EiD 4,322 =H SF 34,180
YEH X 32,750
| BEt | 166,400] | 63,105
18,525
| At | 11,617]  1,017,815]
<EFEFIE > <ERRBZEEZR>
K4 REAE e K4 RE AR &
A EE 8,644 B ER 2,361
=B -7 9,240 & REmE 5,606
WL EF 4,322 HHE &F 27,237
Ea & 3,936 =3 EF 1,440
| INET | 26,142 0l | INET | 2,361 34,283|




< Fh RS SR ER > <UYNE1)>
K% REXBE & K4 REXBE &

ey B 2,285 LH 1,073

EE ¥ 9,240 WE BEF 32,025
Aft 1E1F 1,073

| INET | 9,240| 2,285| B Fi 4,322 33,098
AW BHE 9,240 2,285

INEL | 13,562 69,554
aAAT4H)L
=it | 51,305] 106,122]
<FHEIEH>
K% REXEE &

EH BF 3,397

NG EEF 400 1,325

INFR BT 11,301

Hth JF 4,322

A% B 44,725

EE 200

JRE #F 17,288

TR = 200

B H— 4,322

BRI 4,322

heH EF 4,322

Lo BT 200

BAR B 4,322

Il HhF 4,322

FE #F 12,966

KB FF 4,322

ZHA B 28,745

JIFT F0F 44,725

O 36,485

M BhF 200

flg BAF 4,322

Bk FHF 3,397

WE sF 3,249

A EiF 3175

1R FaK 4,322

ik FA 200

ER)l EE 200 4,322

| A&t | 13,966] 241.632]

MRE AR fE
| #Aas 243,288 1.365.569




Fr 1 OFEEIHS KE &5t
<EHh>

K# EEERE | REXER | IRRHESR
fitis BB 58, 320 600 57,720
#wAt A& 14, 317 5, 062 9,255
Nk 1% 92, 050 92, 050
L% E—Ap 108, 730 108, 730
ERrEN 18, 860 18, 860
=8 MBE 18, 860 18, 860
UF RE 93,070 93,070
BT =& 18, 860 18, 860
HLIt% @l 24, 660 24, 660
INE e 16, 620 16, 620
HH CEAR 32, 810 32, 810
a3 Al 15, 360 15, 360
e FE 21,520 21,520
ERKR AL 34, 660 34, 660
ik #ih 16, 380 16, 380
bid 1= 49, 220 49, 220
ik 58 1,682 1,682
HiE B8 29,010 29,010
K & 13, 100 13, 100
X BUR 16, 220 16, 220
Pk XE 44, 420 44, 420
=E AR 88, 390 88, 390
IR K 41, 820 41, 820
gk A% 47,720 47,720
il A 21,300 21, 300
e BIX 1,300 1,300
WEH = 6, 640 6, 640
HE L 46, 890 46, 890
Bt RA 33, 240 33, 240
B SF 32, 840 32, 840
H BAR 14,900 14, 900
= = 25, 860 25, 860
B FRAER 40, 820 40, 820
R EA 51,120 51,120
111,930 111,930
3,915 3,915
40, 820 40, 820
49, 860 49, 860
93,070 93,070
i B® 3,915 3,915 0
L&z 27 | 1,513,079] 9.577] 1,503,502




<FzHBRE>

K% REFERE | REXEE | HEHHEE
AR 740 740 0
i = 3,915 3,915 0
WH =HY 3,915 3,915 0
AH = 15, 882 15, 882 0
—# B2 3,397 3,397 0
EH A% 7,423 7,423 0
NI\ B 3,915 3,915 0
XH B=E 15, 720 15, 720 0
FE BX 2,627 2,627 0
i 3, 471 3, 471 0
FE [Eid 3,915 3,915 0
BEE 5 3,915 3,915 0
2T # 3,508 3, 508 0
WiE M= 3,915 3,915 0
ME XE 6, 350 6, 350 0
&F & 3,508 3, 508 0
R 3,508 3, 508 0

| 89, 624] 89, 624] 1|
< EH|E>

K% BREERE | REXRE | MEHEE
R 3,915 3,915 0
S 925 925 0
l INET | 4,840 4, 840] 0]
<P RIEHRER>

K% REFERE | REXEE | HEHEE
HE EE 34, 890 34, 890
ElET] 23,760 23,760
| INET | 58, 650] 0] 58, 650]
<BERIREER> _

K% BREERE | REXARE | MEHEE
H# T 2,620 2, 620 0
& B 1,700 1,700
kk EE 1,850 1,850 0
| INET | 6, 170] 4, 470] 1, 700]
<YNngny>

K% REFERE | REXEE | IEHHEE
HE BE 888 888 0
A# EfE 6, 801 6, 801
o E= 8, 240 8, 240 0
| INET | 15, 929] 9,128] 6. 301]
< BG PR T 26T >

K% REFERE | REXEE | HEHHEE
I 3,915 3,915 0
| INET | 3,915] 3, 915] 0]
<RI OPERRER >

K% BREERE | REXARE | MEHEE
BHH RER 3, 064 3, 064 0
| INET | 3, 064] 3, 064] 0]
|2AT1HIL &5 92, 568] 25, 417] 67, 151]




<F#H>

K& SEEKREE | REXRBE | AETHEE
EH BT 3,360 3,360 0
e EBF 800 800 0
kB %= 1,700 1, 700 0
EICEE T 2,620 2,620 0
I ET 3,915 3,915 0
BB & 5, 240 5, 240 0
EH IHE 5, 240 5, 240 0
WA T 5, 240 5, 240 0
GH B 5, 240 5, 240 0
Mk @mE 2,620 2,620 0
EX %8 2,620 2,620 0
Em B 5, 462 5, 462 0
EH M= 3,286 3, 286 0
INEF ChH 3,915 3,915 0
K% HBEE 5, 208 5, 208 0
NAE EET 3,300 3,300 0
EEH_DER 1,700 1, 700 0
T 5, 240 5, 240 0
ik 28 3,915 3,915 0
s EZET 11, 360 11, 360
ik == 2,620 2,620 0
g% T 5, 240 5, 240 0
Bk WBE 5, 240 5, 240 0
miE &1 3,300 3,300 0
M #o= 35, 080 35, 080
AE B 3,860 3,860 0
A #E 2,620 2,620 0
ER BT 3,915 3,915 0
=@ == 2,620 2,620 0
TERET 5, 462 5, 462 0
BA AETF 3,915 3,915 0
TR AX 3,915 3,915 0
g b 5, 240 5, 240 0
WA 2,620 2,620 0
HH BT 3,915 3,915 0
BA BT 5, 240 5, 240 0
BE ® 5, 240 5, 240 0
&8 &5t | 182,023 135,583 46, 440]
485 mm oat| 1,877,294 260,201 1,617, 093]
GE#5 %)

R 2,620 2,620 0
EH DERR 2,160 2,160 0
R 2780 2_780] 0]
4p% e oit| 1,882,074  264,981| 1,617,093




ER19FE RMERE
<4HH>
E2K:1} BiteE

—¥ Bz 48,239
#A ®HZ 48,239
lEH —8 57,230
HE ] 55,239
T H s 48,239
£E BE 55,239
T A 47,150
s Tx 108,900
FE = 94,540
il & 63,010
B cH 94,300
AR =i 47,150
ZH X 113,586
EXEEEES 97,370
Pk =6 64,860
a5 % 64,860
Al EiE 64.860
TE B 56,860
g IRiE 48,239
FE == 52,430
Ll EF 48,010
M BE 48,750
EX 8B 51,760
INEH THH 48,010
2l 53 49,280
= E=E 48,660
[4 B 55t 1,625,010]
<5A%H>

E=RE&S 170,512]
|&5t 1,795,522]




Pt ] OEEEFS KB BHTAH)

<EHfi>
K# EEERE | REEE | IRTHESR
fitis BB 400 400 0
ME EX 40, 480 40, 480
EH - 50, 580 50, 580
Flll B= 50, 790 50, 790
R EE 14,960 14,960
L% E—Ap 15, 660 15, 660
=i B 64, 100 64, 100
LT EN 51,000 51,000
L BR 15, 800 15, 800
BLLE @l 27,980 27,980
X5 23,760 23,760
g NE 3,915 3,915
=H EA 100, 440 100, 440
e+t BHF 45, 480 45, 480
B B2 24, 580 24, 580
i FH 58, 210 58, 210
E#H A 37,280 37,280
=% #F 23,970 23,970
fBH 1E® 37,280 37,280
Bl & 55, 560 55, 560
BE EA 55, 520 55, 520
¥ EX 48,720 48,720
FiE EX 49, 960 49, 960
X BUR 1,700 1,700
BH gz 3,400 3,400
=2H &S 19, 340 19, 340
Fik = 56, 380 56, 380
mE A 41, 580 41, 580
EF K7 53, 580 53, 580
3 AIX 156, 180 156, 180
tRiE MR 86, 180 86, 180
HiE E 32, 440 32, 440
B CE 19, 340 19, 340
nAR B 32, 440 32,440
HEE HEsR 2,620 2,620
=t RA 13, 000 13, 000
EH FEX 33, 860 33, 860
=M sF 1,830 1,830
E XE 33, 625 33, 625
%ZH #x 3,915 3,915
pite il 15, 660 15, 660
53, 580 53, 580
51,000 51,000
57,120 57,120
43, 060 43, 060
14, 200 14, 200
14, 200 14,200
thig B® 3,915 3,915 0

| ZEf &5 | 1,926, 570] 4, 315] 1,922, 255|




K4 SEERE | REXEE | IEHES
) 2 1,939 1,939 0
i = 9, 421 9, 421 0
AH nE 10, 709 10, 709 0
N BWE 1,739 1,739 0
JIE JE 7,830 7,830 0
KB R= 7,860 7,860 0
i 1,739 1,739 0
e 4,115 4 115 0
WEH —5 1,700 1,700 0
TEiE 3,915 3,915 0
tE 3,508 3,508 0
—= = 2,731 2. 731 0
T 2,183 2.183 0
| ET I Y, | 59, 389] 59, 389] 0]
<P RIETERER >

K4 SEEKREE | REXEE | AEREE
B Z= 7,016 7,016 0

0

l INET | 7,016] 7.016] 0]
<FEEBEEE>

K4 SEERE | REXEE | IEHES
=k == 62, 630 62, 680
T 19,728 3,508 16, 220
x B 37, 280 37, 280
NE BF 16, 220 16, 220
FH* T 3,915 3,915 0
tE B= 3,915 3,915 0
| INEL [ 143, 738] 11,338] 132, 400]
<YNEY>

K4 EEEKREE | IREXEE | AEHEE
EF B 4,322 4,322
TH 3, 434 3, 434
FF £57F 3,767 3,767
B S8 7,016 7,016 0
BA BT 4,322 4, 322
= 61, 128 61,128
TEEESS 4,620 4,620 0
| INEL | 88, 609] 11, 636] 76, 973]
<BRPE T80 (FRIE : FREEE)) >

K4 SEEKREE | REXEE | AEREE
TIE e 11, 745 11, 745 0
l INET | 11, 745] 11, 745] 0]
[aA54hL &5 [ 251,108] 41.735] 209, 373]




<FHEH>

K4 EEEKRE | REXEE | ARHEE
EH BT 13,900 13,900 0
Ny ZBF 49,749 17,309 32, 440
T _EF 3,731 3,731 0
WE_TB 73,843 7,053 66, 790
B0 @mkr 3,915 0 3,915
INEF T hH 3,915 3,915 0
KE WHREE 1,700 1,700 0
L 37,900 37,900
BE =W 2,620 2,620 0
BN 1,700 1,700 0
WA 200 200
P == 2,620 2,620 0
e F& 2,620 2,620 0
Bk SHE 2,620 2,620 0
HE FOH 2,620 2,620 0
2@ BT 63,060 63, 060
AE B8 1,700 1,700 0
BEH = 2,620 2,620 0
BA AETF 32,440 32, 440
4£H BhT 200 200 0
=@ %= 2,620 2,620 0
M= 3,286 3,286 0
e 3,915 3,915 0
TR AR 3,915 3,915 0
g Fi0 2,620 2,620 0
WA ER 2,620 2,620 0
%% T2 200 200 0
BA BT 2,620 2,620 0
BmE ® 2,620 2,620 0
M 32,440 32, 440
I ET 3,915 3,915 0
R 2,620 2,620 0
T8 AT 3,915 3,915 0
R IRE 2,620 2,620 0
N 2,620 2,620 0
BT 3,064 3,064
FH_BE 2,620 2,620 0
mEE_mE 2,620 2,620 0
KF _hEF 200 200 0
EAx =8 2,620 2,620 0
e B 2,620 2,620 0
BIR EkET 7,423 3,915 3,508
A BT 7,830 3,915 3,915
mik AEF 3,915 3,915 0
NER BT 37,600 37,600
R RE 45,540 45,540
Bl _RE 1,700 1,700 0
FICEES 2,620 2,620 0
=g AT 3,508 3,508 0
2R BT 3,915 0 3,915
WE_ E 3,915 0 3,915
=T 3,915 0 3,915
2R =8 200 200 0
By BT 200 200 0
[ FEs &S&t 512,250] 137,693 374 557]
1585 wE #wast| 2.749.317]  243,132] 2,506, 185]
GE#S5)
[Py 340] 340] 0]
589 & &5t | 2,749,657 243 472| 2,506, 185




B51(8/15#,

Fril 9FECHS, WE
<EAfi>

K& EHEERE | REEE | IEMRES
fitid BB 93, 960 93, 960
I Bl 12,220 12,220
£ = 12, 460 12, 460
Flll B= 11, 820 11, 820
=8 B 12, 460 12, 460
IS EETIN 12, 460 12, 460
L8 B8 15, 660 15, 660
5 BE 12, 460 12, 460
W B 4, 555 3,915 640
Hit% 67, 240 67, 240
X5 8 65, 460 65, 460
g NE 11, 800 11, 800
IMNE e 2,953 2,953
=H B 16, 260 16, 260
& B2 24,580 24, 580
HO BF 23, 360 23, 360
Fik BS 37,280 37,280
FE EX 1,700 1,700
)l E® 15, 640 15, 640
IR FH 113, 660 113, 660
Ft BF 15, 640 15, 640
RH BRAE 24, 850 170 24,080
KE ST 39, 240 39, 240
SHE JIEZ 18, 440 18, 440
Pk St 24,580 24,580
aE BA 24, 840 24, 840
K% EM 35, 240 35, 240
fhe 37, 600 37, 600
[ITE ] 98, 420 98, 420
=B EE 37, 280 37,280
e 2R 53, 830 53, 830
it & 37, 280 37,280
U] 1,700 1, 700
HEiE FHRR 3,397 3,397
=iE ke 1,700 1,700
oo 1,700 1,700
WA = 1,700 1,700
HEHE MR 1,315 1,315
BER DRE 640 640
EHB FX 39, 460 39, 460
My =2 40, 020 40, 020
VEEH S 1,150 1,150 0
Em SUE 36, 860 36, 860
Ak BEF 36, 660 36, 660
33, 625 33, 625
640 640
L&z &2 | 1,401, 795] 5,835 1,395, 960]




<=EzHH>

K% EEERE | REXBE | HEHEE
IS 3,678 3,678 0
iRk EN 4 115 4 115 0
XA Bk 200 200 0]
B BE 7, 830 7, 830 0
AH FE 3, 397 3, 397 0
#ME RZ 1,480 1,480 0
N BUE 1,739 1,739 0
ax A 2,109 2,109 0
JIIE B 3,915 3,915 0
X RE 1,046 7,046 0
Fik X 5,514 5,514 0
g £5 200 200 0
74 400 400 0]
WA —8 58, 240 58, 240 0
A & 1,939 1,939 0
ZI i 23, 780 23, 780 0
FEiE = 7,830 7,830 0]
TF EA 7,904 7,904 0
H B 3, 508 3, 508 0]
A0 B 3,915 3,915 0
| %5 2] 148, 739] 148, 739] 0]
< K8 >

K& SEERE | REXBE | HAHEE
E EH 42,426 0 42, 426
R 3,915 3,915 0]
A T 7,046 7,046 0
| INEE | 53, 387] 10, 961] 42, 426]
<¢im%ﬁ%>

SEERE | REXBE | HAHEE
t5 ?é"‘ 16, 220 16, 220
Fihik &F 16, 220 16, 220
HH K& 33, 662 33, 662
FIHE £F) 16, 220 16, 220
#E £ 45,662 45,662

INET | 127, 984] 0l 127, 984]
< Pabk iR 2 o >

K% SEERE | REXBE | HEHEE
=K E=E 3,915 3,915 0]
KR FEF 51, 240 51, 240
e EE 38, 340 38, 340
o]l IEA 1,700 1,700
l INEL | 95, 195] 3,915] 91, 280]
<UJnNEU>

K& EEERE | REXBE | IEHEE
HE & 888 888
R 0 0
ME FIT 740 740
R & 3,915 3, 915
A EE 6, 323 6, 323 0]
| INET | 11, 866] 6, 323] 5, 543]

Ba PR T 260 (FhlE : BRERED >

&% SHEERE | REXBE | NATBE
hilE IHfE 21,116 7,046 14,070
| INET | 21, 116] 7,046] 14,070]
<EEEH>

K& EEERIE | REXBE | IEHEE
B HEF 56, 960 56, 960
FIE EHR 3,915 3, 915
BAR EF 24,180 24,180
| INET | 85, 055] 1] 85, 055]
|a2FhiL&E] 394, 603] 28, 245] 366, 358]




<FHEH>
K4

EEFEKRE | REXAEE | IRHES
¥H BT 1,830 1,830 0
ny XEF 0 0 0
bt FF 1,147 1,147 0
RE FE 3,915 3,915 0
Pk FF 3,915 0 3,915
Tk T 0 0
R# & 200 200 0
NEH TAH 3,915 3,915
KE R 1,700 1,700
KE FF 62, 040 62, 040
FE XK 2,620 2,620
=R 1,700 1,700
hogh  EH 3,915 3,915 0
b B | 45, 140 45,140
1BE SHET 32, 240 32, 240
IRER & oA 32, 040 32, 040
Pk =R 2,620 2,620
BE F& 2,620 2,620
Bk 2 2,620 2,620
XE EFH 1,700 1,700
Bl fa3% 2,620 2,620
BN O#TF 3,915 3,915 0
g TEF 2,620 2,620
3 #x 1,700 1,700
=N EFR 50, 280 50, 280
i o 3,915 3,915
= XX 2,620 2,620
WH F& 3, 286 3,286
48 BhF 5,615 3,915 1,700
FEE S 1,700 1,700
BR AEF 3,915 3,915 0
WA #x 3,915 3,915
g Fiid 2,620 2,620
s 2,620 2,620
WA T 317,220 37,220
&k TE 37,220 37,220
aH BF 3,915 3,915 0
BiE BT 3,915 3,915 0
Ein N 2,620 2,620
3 2,620 2,620
AN o 2,620 2,620
B iR 2,620 2,620
£H THE 2,620 2,620
HE T 2,620 2,620
N& =m¥ 3,915 3,915
EF Hi 1,700 1,700
Bxft T8 3,915 3,915
hofl AEF 3,915 3,915
B OEF 50, 440 50, 440
% EBE=x 45, 340 45, 340
1EeE s 61, 640 61, 640
BE At 3, 064 3, 064
2R ®BF 3,915 0 3,915
INEBRTF 16, 220 16, 220
A EF 18, 060 18, 060 0

[EEE &5l 6133321  54.642] 558, 690]

685 &
waEs [ 2 558 469]  237,461] 2,321,008




FHTOFETHS WE (9AXH)
<Eff>

K% BHEFERE | REXABE | IETHES
e EE 2,080 2,080 0
#wr A 31,410 31,410
HLLE 0 0
X5 B 0 0
migE NiE 44, 880 44, 880
INE Stk 39, 900 39, 900
s BX 317,680 37,680
SH HE 39, 760 39, 760
¥ EX 41,020 47, 020
INAR B— 99, 560 99, 560
TN 63, 060 63, 060
BH R 49, 960 49, 960
mH BF 42, 420 42, 420
[FEH B4 83,019 83,019
e A 39, 860 39, 860
#FiE EE 90, 380 90, 380
Ml & 90, 380 90, 380
=g T 81,020 87,020
e &R 63, 060 63, 060
e BIXX 21,420 21,420
bt iEE 90, 380 90, 380
15 BRAHR 90, 380 90, 380
=i B 49, 960 49, 960
XY ;T 32, 840 32, 840

29, 7120 29, 7120

&g S5 | 1,068 149] 2,080] 1,066, 069]
<FEHBRE>

K4 BHEERE | REXABE | IETFHES
aH B 8, 880 8, 880 0
plin;. S 1) 3,915 3,915 0
FiE BB 3,915 3,915 0
AH RE 10, 191 10, 191 0
EE HE 3,508 3,508 0
NE JE 1,830 1,830 0
A == 3,915 3,915 0
e EX 39, 820 39, 820 0
WA Ez 1,830 1,830 0
WE —# 3, 400 3, 400 0
=2 MR 8, 981 8, 981 0
fEtE = 3,915 3,915 0
ME XE 3,915 3,915 0
pund =z IR (] 6,572 6,572 0
o 2, 131 2, 131 0

2,953 2,953 0

EZ Y 122, 271] 122, 271] 0]
<EFHIE>

K4 EEERE | REEE | IREHHESR
=iE KX 925 925 0
EX ES 1,830 1,830 0
| et 8, 755] 8, 7155] 0]




<t RIGETERED >
K#

SEERE | REXEE | EHEE

EE =t 1.776 1.776 0
BH 2= 3. 064 3, 064 0
e 7. 840] 7. 840] 0]
<ERRIREL>

K4 SEERE | REXEE | IEHEE
=K £= 3,915 3,915
N HF 2. 620 2.620 0
tB 5= 200 200
AHE &7 6,128 6,128 0
B BT 7.830 7.830 0
S5 57 11, 745 7.830 3.915
BHHEF 3,915 3,915
HE WF 1,700 1.700
& R 1,850 1,850
e 1,850 1.850 0
[ et ] 41, 53] 26, 258] 15, 405]
<UYNEY>

K4 EEEKE | REXERE | MEHEE
HE (& 388 888 0
= B 1.700 1.700
EES 6,128 6,128 0
A0 &8 7.830 7.830 0
7 1B 7.830 7.830 0
=/ b 1.000 1,000
&F =5 3,915 3,915 0
BA AT 925 925
LhE B 1.700 1.700
TERETS 1.540 1.540 0
et ] 33, 456] 28. 131] 5 325]
< BSPK T 26 (P : RRERR)) >

K4 SEERE | REXEE | IEHEE
FIE e 5 615 3,915 1,700
[ et ] 5. 615] 3. 915] 1.700]
< #%} O R B A >

K% SEERE [ REXRE | IRHHEE
BEE fR=i 6.572 6,572 0
et ] 6.5/2] 6. 577] 0]
[Ex=mras=] 100, 991] 78. 471] 22. 520]




<FHE>

K4 aEs :k%ﬁ REXBE | IRHEE
®H BT 3,915 3,915 0
s EBTF 0 0 0
B EF 37, 280 0 37, 280
BE_TE 0 0 0
RE_&F 29,720 0 29,720
Ax KE 29,720 29,720
BL €oF 73,580 73,580
mE &F 11,745 7,830 3,915
M TR 3,915 3,915
£H = 58, 160 58, 160
KE BmE 3,064 3,064
BO XEF 58, 160 58, 160
B Bx 3,730 3,730
NKE EE; 24,180 24,180
ED M 3,915 3,915
N 37, 280 37, 280
BN AT 3,915 0 3,915
AH BE 32, 440 32, 440
FEA) 3,064 3,064
BA ZEER 32, 840 32, 840
el 32, 840 32, 840
i MR 32, 840 32, 840
BA AEF 3,915 3,915
A#E_ 3,915 3,915
B &t 62, 780 62, 780
I _BRT 32, 840 32, 840
2 BE 32, 840 32, 840
B BT 3,730 3,730
FTE AT 37, 280 37, 280
BB B 7,830 7,830 0
W & 3,915 3,915
HE BAT 38, 540 38,540
EH_#A 2,620 2,620
fogE @& 2,620 2,620
BA T 2,620 2,620
58 FEH 3,730 3,730
EX %5 2,620 2,620
Ea B 2,620 2,620
tE _TEF 7,830 7,830 0
EE & 32, 440 32, 440
XE ERB 45, 540 45, 540
AR E 29, 840 29, 840
FICEE T 32, 840 32, 840
AN B 3,915 3,915
IR EF 40, 344 40, 344
E&EE S 953 467] 27 _405] 926062
THDIRE

PS5 2,244 878] 230,227 2, 014, 651]




Tt 1 QLEEIOFZH B (8HH)

<EBm>

K% SEERE | REXRE| KB
fiE e 42. 140 42,140 0
BmE Tx 12,819 12,819
=@ B 7,720 7,720
& e 40, 260 40, 260
TRER E4h 37, 680 37, 680
B BE 31, 420 31, 420
SRS 1,960 1,960
2 37, 680 37, 680
BA DRBE 63, 000 63, 000
XE BET 38, 740 38, 740
25 &T 25 078 25 078

37, 260 37, 260

[Zzz 2z [ 375, 7157 47 140] 333 617]
<EHBBE>

K% SEEKRE | REXRE | KB
EE B 40, 880 40, 880 0
BB = 4 315 4,315 0
XA Bk 770 770 0
Bl AE 7.830 7.830 0
AH BE 7.830 7.830 0
JEE HE 4. 826 4. 826 0
AE AR 2 146 2 146 0
ENE 3,915 3,915 0
FH BX 10, 080 10, 080 0
S 3. 478 3. 478 0
EE & 200 200 0
=T & 4 137 4137 0
£F & 12, 448 12, 448 0
) 12,892 12,892 0
AD B 3,915 3,915 0
[Z%5 2/ 119.662] 119, 667] 0]
< EHIER >

K4 EEEKEE | REXEE &
TE =8 2 146 2 146
=X B 51, 400 51, 400
st ] 51 400] 0] 53 540]
< R RRGHHRER >

K% SEERE | REXRE | KB
BE &1 1,739 1,739
HE 55 70, 960 70, 960
WE & 35672 35,672
[t T 108 371] o 108 .371]




<Uney>

K% SEFERE | REXEER ik |
HE RIS 2,620 2,620
AR e 1, 700 1,700
A+t E1% 650 650
iy & 21,400 21, 400
FT XEF 3, 400 3,400
=H 8 2,000 2, 000
AR RT¥ 1,830 1,830
Hil =Hh 400 400
L&t | 46, 000] 0] 46, 000]

<B&PR T 576 (FT /R : RREAED) >

K4 SEFERE | REXAEE ik 1

FIE e 24, 580 24, 580
[ et ] 24, 580] 0] 24, 580]
[ExFnnas] 230, 351] o 232, 497]
<FEIH>
K4 EEEKRE | REXAE RE

B=H BT 39, 755 3,915 35, 840
R ABRT 3, 064 3,064
E# A 3, 286 3, 286
BX ¥ 3,915 3,915
=5 B¥ 3,915 3,915
WiE E&F 3,915 3,915
e By 3, 064 3,064
FE =& 3,915 3,915
g = 38, 740 38, 740
e BE 3,915 3,915
BF UWTH 32. 840 32, 840
ML HhaF 3,915 3,915
MRS 200 200
EE &l 36, 155 36, 755
kB AT 7,830 7,830
S ES 3,915 3,915
=8 BE 3,915 3,915
Bl M= 57,720 57,720
BA [Fo= 3,915 3,915
£k HB= 3,915 3,915
XE LYUTF 28, 460 28. 460
B2 H{H 3,915 3,915
&F AR 3, 508 3,508
2% B%xT 27,580 27,580
HO @5 3,915 3,915
T2 3,915 3,915
BIE =kT 3, 064 3,064
=5 HF 57,720 57,720
BA =7 7.016 7.016
B BT 3,915 3,915
B eET 3,915 3,915
INFE BT 31, 160 31,160
2R =R 3,915 3,915

(E:Eap St 444 402] 3,915] 440 48]

8575
peEiSsH 1,170,172] 165 717] 1,006, 601}




g1 QFEET 1 AEH KEGFS)

< ERn>
K% SEEKE | REXBE | KREE
WHE B& 24, 480 24, 480
=i B 37,080 37,080
% E— 37,080 37,080
LT ZE 37,080 37,080
BILE Bl 40, 720 40, 720
Mg N 24,180 24,180
=H B 53, 820 53, 820
8 EA 101, 500 101, 500
Fi& =0 1,300 1,300 0
=2 B 2,150 2. 150
B2t =4 24,900 24,900
GEIETES 3, 260 1,300 1,960
L5 E— 19, 060 19, 060
TEiE JEr8 37,280 37, 280
EE kR 1,700 1,700
A =% 24,580 24,580
ki XE 3, 400 3, 400
K BEF 3, 400 3, 400
37,080 37,080
76, 700 76, 700
| =g 23 [ 595 750] 2.600] 593, 150]
<EHBBR>
K4 SEEKE | REXABE | KREE
=H ik 400 400 0
Wik =9 11, 945 11,945 0
xa B 770 770 0
FE AE 3,915 3,915 0
AR RE 3,397 3,397 0
FiE BX 2,857 2. 857 0
i EEL 3,397 3,397 0
WWE —5 22,920 22,920 0
FE [Eio 11, 745 11, 745 0
22 R 3,915 3,915 0
RS 3,915 3,915 0
Bl =ik 3,915 3,915 0
BEE 5 6, 098 6, 098 0
=T 3,508 3, 508 0
el B 3,915 3,915 0
NE LB 7,290 7,290 0
£F ER 10, 480 10, 480 0
AO B 24,180 24,180 0
W& #oF 2,320 2320 0
N 3, 545 3, 545 0
E=IEES 22,900 22,900 0
T %5 27 [ 157,321 157,321l 0]




< EFIEE>

K4 EEFERE | REXEE| KEE
i =6 777 777
EE T 3. 700 3,700 0
FhE XE 63, 083 388 62. 200
FE Ea) 28. 060 28. 060
EAE T2 3,915 3,915
JIE 3 3,915 3,915
=M AT 45. 360 45. 360
| INET [ 148 815] 4. 588 144, 227
< RiREHRER> ]

K% EEEKRE | REXAE| KEE
e &= 45. 340 45. 340
TR == 105, 300 105, 300
BE 5 3,915 3,915 0
Em = 6,128 3. 064 3. 064

/NE [ 160, 633] 6.9/9] 153, 704]
<BRRBREE >

K% EEEKRE | REXAE| KEE
B 4, 366 4. 366 0
W EF 28. 020 28. 020
HE T 36, 460 36, 460
[ INET | 63, 846] 4. 366] 64. 480]
<UYNEY>

K4 EEFERE | REXAE| KREE
HE BE 5 873 5. 873
7 1503 3,915 3,915
BA KT 7.830 7.830
[ INET | 17.618] 0] 17.618]
A5 A&E | 395 962] 15.933] 380, 029]
<EFHEH> ]

K4 EEFERE | REXEE| KEE
BE BT 56, 380 56, 380
Y NEEL 58. 581 5. 001 53. 580
FF EF 11,174 9, 435 1.739
WE FE 2. 731 2. 731 0
Bl =T 3,915 3,915
TE T 3,915 3,915
INE BlE 3, 064 3,064
BEE o7 3,915 3,915
BH BT 67. 520 67. 520
MEEEES 3,915 3,915
EB B3 3,064 3,064
HO AREF 200 200
IAS E=T 3,915 3,915 0
R S 56, 960 56. 960
FE B85 3,915 3,915
=& T 3,915 3,915
EOH A 3,915 3,915
e T 3,915 3,915
FE LA 50, 080 50, 080




g BF 3,915 3,915
ER &% 3,064 3,064
WA A 3,915 3,915
BB T 3,915 3,915
& AhE 3, 064 3,064
2% =71 3,915 3,915
ERA _BE 3,915 3,915
=5 27, 860 27, 860
Nt SIF 37,320 37,320
BB = 27, 440 27, 440
NE BT 3,915 3,915
AfE 7,460 7,460
EX =® 3, 064 3,064
BA BET 3,915 3,915
HH BE 3, 064 3,064
= —% 3,915 3,915
=@ X 2,620 2,620
T = 67, 400 67,400
BB =T 84, 840 84, 840
BA BEmE 2,620 2,620
hiE AhF 29,120 29,120
LA RBF 200 200
I BRT 3,915 3,915
B LT 60, 640 60, 640
xXZ BF 3,915 3,915
BER B0 3, 064 3,064
T B8 3,915 3,915
TR 3,915 3,915
AtE BETF 3,915 3,915
LB ¥A%0 1,100 1,100 0
BD BT 2,731 2. 131
AE & 3,915 3,915
Ek & 2,620 2,620
Bl B— 3,915 3,915
EE BE 29,120 29,120
Bl _A&HY 2,620 2,620
it £F 44, 020 44,020
HE BHRT 33,970 33,970
EiE GRE 3,915 3,915
T A%TF 3,915 3,915
EE 5 11,745 11, 745
NI BEE 60, 875 60, 875
IS 3,915 3,915
Bl KE 2,620 2,620
K& A EF 3,915 3,915
IR 1,100 1,100 0
il EF 3,915 3,915
hER BT 37, 600 37, 600
L 3,915 3,915
£R_=#& 444 444
A @F 27,860 27,860
|__Fs &5t | 1,048 469] 23, 282] 1,025, 187]
9545
RE #55 2,197,508] 199, 142] 1,998, 366]




F1 9FE T 2AX#H KE0FS) &5t
<EHfi>
K& EEFERE | REXBE | ik &
fitid BB 57, 240 1,680 55, 560
#W B 1,280 1,280
£ = 83,140 83, 140
iR BE 44,700 44,700
Flll B= 57, 800 57, 800
=R B 32, 440 32, 440
x5 HE 58, 640 58, 640
L8 E—88 45, 540 45, 540
WF RE 58, 640 58, 640
BLLE 5,100 5,100
g NE 1,100 1,100
BmE X 1,494 1,494
=H HER 817,020 817,020
& B2 19, 740 19, 740
e+t BAF| 55, 560 55, 560
A3t A 35, 600 35, 600
oxE E£T¥ 35, 600 35, 600
T 33, 230 33, 230
HE EA 31, 060 31, 060
¥ EX 54, 420 54, 420
ARER £tk 26, 160 26, 160
pll EE 17,580 17,580
PN i | 39, 860 39, 860
T AR 18, 500 18, 500
ZH Ft 19, 340 19, 340
i Ex 29, 320 29, 320
Bt RA 31, 060 31, 060
3 A 47, 330 47,330
s = 58, 640 58, 640
WWE =i 14, 860 14, 860
B OtE 58, 640 58, 640
m o8 42, 420 42, 420
BR WS 27,420 27,420
EH FX 1,700 1,700
=8 s 1,240 1,240
Fik BT 1,700 1,700
=ie BT 54, 260 54, 260
My =2 42,120 42,120
X BT 3,397 3,397
24,180 24,180
49, 960 49, 960
&4 £z | 1,535 031] 1,680] 1,533, 351]




<=EzHH>

K£ EEFERE ([ REXEE| K B
S 4,115 4,115 0
i 8,030 8, 030 0
EE 5 4,396 4,396 0
N BE 1,739 1,739 0
TE AR 3,915 3,915 0
i EEE 1,739 1,739 0
IE —#& 3, 804 3, 804 0
FE B 999 999 0
BEE & 10, 020 10, 020 0
I & 5,395 5,395 0
NE LB 3,915 3,915 0
£F EX 5,240 5, 240 0

1,700 1,700 0

999 999 0

I 5 2 ] 56, 006] 56, 006] 0]
< EEHIER > _

K4 EEEKRE | REXEE| kK B
ik =i 3,915 3,915
[ INEE | 3, 915] 0] 3, 915]
<P RBEHRED>

K4 EEEKRE | REXEE| kK &
£ = 3,160 3, 160
HE B 1,700 1,700
ElEE 3,915 3,915 0
l /% | 8. 775] 3. 915] 7. 360]
<Em 2>

K% EEERE ([ REXEE| K B
& B 3,397 3,397
I INET | 3, 397] 0] 3, 397]
<UneEYU>

K4 EEEKRE | REXEE| kK &
EH = 3,915 3,915
FF £5F 6, 831 6, 831
=D 8,237 8, 237
l NGt | 18, 983] 0] 18, 983]
[EAF4AL &5 ] 35, 070] 3, 915] 31, 155]




<FFHEH>

K4 SHEFEKE | REXBE | Kk &
FH BT 2,620 2,620
s ZBF 1,500 1,500
nE FE 4, 366 4, 366
Bif BT 7,830 7,830
RE#hF 3,915 3,915
BH ®F 38, 480 38
WE AT 66, 460 66
=B FH 200
Z@H BRE 3,915 3
H#E %8 2,620 2
& EbE 7,830 7,830
WE EF 32,440 32
EH EmE 3,915 3
Bl #BTF 32,440 32
m#h =¥ 3,915 3
5% BET 3,915 3
A B 3,915 3
s &L 11, 745 il
EfE MRT 31, 340 31
EE 7,830 7
BE mT 31, 760 31
EH BT 14, 400 14
B LT 3,915 3
Bl A% 3,915 3,915
IR 7,830 7,830
B8 YEE 3,064 3,
WE BF 3,915 3,
MR S 3,064 3,
kB T3 5, 240 5, 240
ZE Ak 3,915 3,
EB FEH 2,620 2,
w = 3,915 3,
=6 ;S 3,915 3,
AR % 17,000 17,
B kT 34,824 3,064 31,
& ERE 5,240 5, 240
T BF 32, 440 32,
e 3,915 3,
" _hHY 16,220 16,
Rk EE 14, 400 14,
BlE BHx 16,220 16,
Bt BETF 3,915 3,
=& &3t [ 506,833 49 230] 457
1054
Viii-d . I=114 2,132,940 110,831 2,022,




FE204E 1 F16A%H HB(115%)

<EHh>
K#£ EEFERE | REXEE| Kk &

115 EE 55, 580 1,480 54,100
BitE i 35, 560 35, 560
x5 H# 29, 800 29, 800
ek NE 51,420 51,420
IMNE R 1,700 1,700
=HE OEA 15,300 15, 300
=tz 17,280 17, 280
i F 18, 577 18, 577
EH A 3,397 3,397
fEH ES 15,180 15,180
=5 #BF 16, 040 16, 040
BWH EA 40, 880 40, 880
¥ EX 1,700 1,700
AR E— 10, 860 10, 860
Tl R 49, 340 49, 340
IR FHt 49, 760 49, 760
|t BF 49, 960 49, 960
[RE BA%E 54,100 54,100
HO HH 28,170 28,170
RE TR 39, 040 39, 040
B 6 31, 060 31, 060
B8 #{+ 3,915 3,915
TH B\E 10, 925 10, 925
5t RA 102, 760 102, 760
fE# BT 1,950 1,950
g = 16, 735 16, 135
IWH = 79, 600 79, 600
E HL 1,700 1,700
BR DB 640 640
LB =X 5,100 5,100
=M 5 34, 400 34, 400
Fik 5T 3, 400 3, 400
i B 31, 060 31, 060
31, 060 31, 060
31, 060 31, 060
&g A& | 1,149,009 1,480] 1,147, 529]




<EHH>
K#

SEFERE | REXBE] Kk &

Ak =4 3,915 3,915 0
Xoa BIA 1,540 1,540 0
E=E 6, 194 6, 7194 0
g BE 1,739 1,739 0
wE Ad] 3,915 3,915 0
= 3,915 3,915 0
P BX 2,657 2,657 0
T2 3,915 3,915 0
LE  — 72,820 0 72,820
=2 BT 3,915 3,915 0
B0 &4 1,700 1,700 0
BEM 3,915 3,915 0
21 & 16, 220 16, 220 0
TRiE B 3,915 3,915 0
£F EX 8, 748 8, 748 0
R 3,915 3,915 0
AO 3,915 3,915 0
= = 24,180 24,180 0
| #z5 271  171.633] 98, 813] 72, 820]
< FEREIER >

K% SEEKRE | REXEE| Kk &
BB EH 29, 279 1,184 28, 095
FER XKB& 72,820 72,820
RE AT 1,184 1,184 0
| INE | 103, 283] 2,368] 100, 915]
< RIRETHRER >

K% SEEKRE | REXEE| Kk &
AE 518 1,739 1,739
EO BT 1,184 1,184 0
B 55 3,915 3,915 0
BE 2% 3, 400 3, 400
Rk & 19, 340 19, 340
| INEE | 29. 578] 5. 099] 24.479]
<FERBREI>

KE£ SEFERE | REXBE] Kk &
I BT 333 333 0
xE B 777 771 0
B e 53. 580 53. 580
| INET | 54, 690] 1,110] 53, 580]
<JYney>

K% SEEKRE | REXEE| Kk &
FF =87 2,731 2, 131

INEE 2. 131] 0] 2. 131]
<BRK T 2Bh (FrIE : RRERED >

K% SEFERE | REXBE] Kk &
== #E 54 580 54,580
=B Bt 24,180 24,180

INEE | 78, 760] 0] 78, 760]
<waFl O REH AR >

E£ SEFERE | REXBE] Kk &
HHH RER 333 333 0
| INET | 333] 333] 0]
<FEEEM) >

K% SEEKRE | REXEE| Kk &
Bk HET 6, 320 6, 320
A5 EEF 6, 320 6, 320
| INET | 12, 640] o] 12, 640]
l=2A7h &5 282 015] 8. 910] 273, 105]




K& EEERE (| REXBE| Kk &
EH BT 14, 450 7,830 6. 620
Y NET =2 9,120 9,120
R TE 1,184 1,184 0
AE RE 72,820 72,820
B 8T 444 444
ik &k 32,040 32,040
Bl BT 1,184 1,184 0
RE &F 69, 039 5,099 63, 940
RE BET 444 444
% BET 3,915 3,915
EENET s 7,830 7,830
D RE 444 444
FE = 1,184 1,184 0
E=REAEA 32, 440 32,440
2@ BT 1,184 1,184 0
Mk = 444 444
EAA BE 3,915 3,915
B BT 3,915 3,915
EH ® 6,128 6,128
o BF 32,440 32,440
£ BhTF 3,915 3,915
BA AEF 72,820 72,820
&8 V5H 1,184 1,184 0
EX & 444 444
i B 444 444
S 444 444
== —% 444 444
RH A& 2,731 2,731
FiE BhF 444 444
WA FEF 70, 160 70, 160
B i 444 444
T ER 70, 160 70, 160
B EE 3,915 3,915 0
Rk I 2,620 2,620
BiIE =7 3,915 3,915
£k BB 444 444
B fF 3,733 333 3,400
A #r 60, 640 60, 640
B ZT 32,040 32,040
AH BT 3,915 3,915
B0 @mE 28,540 28, 540
W T 3,915 3,915
Za 5] 58, 440 58, 440
@ B 32,440 32,440
R E& 3,064 3,064
Pl EF 444 444
BE AT 28,540 28,540
BiM EkT 3,064 3,064 0
i = 3,915 3,915
R —& 31, 060 31, 060
N BF 2,620 2,620
INFR_BEF 24,180 24,180
=3 a1 849 642 26 161]__ 823 481]
1185
ek #5551 | 2,452,299 135,364] 2,316, 935)




FRE204 1 H31A%#H K& (12A4)

<EAfi>
K4 EEFERE | REXBE| ik T
118 BB 1,680 1,680 0
ME ES 3, 167 3, 167
g NE 14, 400 14, 400
=H EAR 98, 940 98, 940
21l [# 55, 770 55, 770
fE# BIX 31, 960 31, 960
g H= 15, 200 15, 200
HHE L 1,700 1,700
My -2 101, 800 101, 800
&% ¥ 11, 800 11, 800
L& 25 | 403, 017] 1, 680] 401, 337]
<E#HRFH>
K& SHEEREE | REXBE| ik T
aH 4,315 4,315 0
R ESR 4,115 4,115 0
Fik BE 3,915 3,915 0
AH F#E 3,397 3, 397 0
=F Bz 3,915 3,915 0
Pk BX 200 200 0
WA Ez 200 200 0
FE B 6, 320 6, 320 0
REH i 1,184 1,184 0
=TI & 15, 669 15, 669 0
FEte {8 = 3,915 3,915 0
EF BEA 6, 535 6,535 0
pand = IR 2% ) 4,358 4,358 0
=N 12,563 12, 563 0
L_#&8 =i | 70, 601] 70, 601] 0]




< EEH|EH >

E% SEBRE | RESBE| &K &
Eo8f FE 30, 920 30, 920
| /BT | 30, 920] 0] 30, 920]
<HRBEHRE>
K% EEGRE | RASBE] &k B
% &t 64, 680 64, 680
Fih &F 24,980 24,980
BE 2= 49,740 49,740
R 55 28,371 28,371
B X 25,180 25,180
l Er_/J\E‘fEn | 192, 957] 0] 192, 957]
BRRETS
K% EEGRE | RASBE] &k &
FE B 61,020 61,020
| INET | 61, 020] 0] 61, 020]
<Yney>
E% SEBRE | RESBE] &K &
EH 1% 1,000 1,000
BA K F 1,700 1,700
INET | 2, 700] 0] 2, 700]
FREED S
22 EEGRE | RASBE] &k &
FIE FER 30, 920 30, 920
| INET | 30, 920| 0] 30, 920]
l2AFhILEE | 318,517| 0] 318,517]




T2 042 5t WB(1AH)

<EEf>
K4 EHEFERE | REXBE| Kk B

FHE EE 800 800 0
EEiR] 444 444
HLLE M 90, 940 90, 940
X5 8 380 380
Mg NE 95, 900 95, 900
= H EE 107, 440 107, 440
wHE F8 1, 700 1, 700
Figk &8 68, 220 68, 220
=H EE 29,120 29,120
rep BER 36, 860 36, 860
HE AR 65, 7175 65, 775
RIS 67,900 67,900
fiatE AR 6, 660 6, 660
Fik BT 21, 860 21, 860
ML —2 24, 580 24, 580
Kbg %EF 98, 620 98, 620
101, 740 101, 740
o1, 780 o1, 780
97, 600 97, 600
- =a 164, 319 800 763, 519

<EHRH>

K4 EHEERE | REXBE| Kk B

=l Bk 16, 260 16, 260 0
AlA AH] 4,292 4,292 0
WA Xz 200 200 0
FE Ei 4,115 4,115 0
TiI & 1,480 1,480 0
hEtE W= 3,915 3,915 0
INE LE 3,915 3,915 0
EF & 2,620 2, 620 0
it H A 3, 508 3, 508 0
A0 B 24, 500 24, 500 0
1,700 1,700 0
EEk &5 66, 505 66, 505 0




<P RIGEHERER >

K4 EEEKRE | REXBE| Kk &
T BE 16. 660 16, 660

INET 16. 660 0 16. 660
<YNE) >

K4 EEEKRE | REXBE| Kk &
RE B 888 888
=4 B 1.700 1.700
A0 B 3. 397 3. 397
+3# —# 1.700 1,700
LE 1,700 1,700

INET 9. 385 0 9385
AT AL EET 26. 045 0 26. 045
<BHEI>

K4 EEFEKRE | REXBE| Kk &
JEE B 3. 400 3400
Bt mEF 3. 915 3 915
=8 BETF 3. 915 3 915
BA o= 32. 040 32, 040
Wil %D 60, 620 60, 620
&E B 60, 620 60, 620
&M HE 3730 3 730
NER BF 37, 600 37. 600
K BHE 60, 440 60, 440
IR BEF 3. 508 3 508
EHI At 269788 o 269, 788
=52
e 55 1,126,657 67.305] 1,059 352




FkE2 0E3FEH Wl (2HH)

<Eff>
K4 EEFEKRE | REXEBEE | KE
fHE EE 800 800 0
£ - 37,070 37,070
Flll B= 217,860 27,860
Tk #= 46, 360 46, 360
BitE Al 9, 300 9, 300
g NE 17, 700 17,700
B 98, 960 58, 960
#E FE 39, 900 39, 900
¥ IEX 53, 060 53, 060
[RE B4 1, 730 1,730
R BB 110, 220 110, 220
= 3, 580 3, 580
= B8 82, 840 82, 840
g A 30, 340 30, 340
e ER 30, 340 30, 340
ZH [t 31, 600 31, 600
e BIXX 128, 030 128, 030
g = 113, 690 113, 690
=2 E 90, 180 50, 180
B =8 31,280 37,280
R EX 49, 960 49, 960
ML —2 24, 580 24, 580
| =67 25 | 985, 380] 800] 984, 530]
<EHREH>
K4 EHEFERE | REZAE i

EH B 1, 700 1,700 0
g EN 1,830 1,830 0
XA RIL 1, 700 1,700 0
N BE 1,739 1,739 0
TE EF 200 200 0
AIA AH 2, 346 2, 346 0
B & 1,321 1,321
e —# 26, 880 400 26, 480
HE Eit 200 200 0
=i R 3,915 3,915 0
=TI # 3, 064 3,064 0
FigtE = 4,840 4,840 0
ME XE 9, 288 9, 288 0
EF EBA 2,620 2,620 0
oz R 220 1,016 1,016 0
ABQ B 4, 359 4,359 0
-= =2 9, 684 5, 684 0
Nidm B 3, 989 3,989 0
L Z58 & | 94, 697] 60, 890] 33, 807]




< ZEFIER >

K4 SEEKRE | REXAE RE
ME =i 2,146 2,146
< b RREHHERER >

K4 SEEKRE | REXAE RE
% Zth 1,700 1,700
R 2 24,180 24 180
<EERBREEH>

K4 SEEKE | IREXEE k&
=K £= 3,915 3,915 0
<YNEY>

K4 SEEKE | IREXEE k&
HE BiE 1,776 1.776
=M B 1,000 1,000
<B&PR L2260 (FrlE : BRERED) >

K4 SEEKRE | REXAE RE
e 41, 407 41, 407
<EKEESEH) >

K4 SEEKRE | REXAE RE
HIE EHE 27, 860 27. 860
laAF«hIL&E5 | 103, 984] 3,915] 100, 069]
<FEH>

K4 BEEKEE | REXEE =
A BF 54, 855 54 855
Ak B R 3, 064 3, 064 0
A =T 200 200 0
BE LT 200 200 0
migE HEHMF 200 200 0
KEE B 1,700 1,700 0
MH BEF 3,915 3,915
B 2T 19, 340 19, 340
g BAF 35, 955 35, 955
LA EF 3,915 3,915
At -2 2,731 2,731
hiEE BT 38, 460 38, 460
=E BT 550 550
s — =& 550 550
B T 3,508 3,508 0
IN BT 2,620 2,620 0
INER BEF 3,915 3,915
B BT 3,915 3,915 0
[ =z&s asr [ 179,593 15,407 164, 186]
=R
E 55 1,363, 654 81,012| 1,282,642






